


[1-3] Y20 &= 2ES 22t 22 A2M 8.

Draw the line between mouth shape and the matching vowel.

- -
-
(] (] [ ]
(] (] [ ]

[4-5] 2A0] TH 2 pes 2awzt [ |of MAW)stM L.

Select the correct writing order for the following vowels and check the box.

4 @ ©)

<




[6-7] =MO %A S0 28 M.

Choose the missing vowel to be in correct order.

° 2 1 i 1
© T @ — ®
7 €L - u | — —




[8-9] =A0f 27 2 xp22 2ap ezt |of M) L.

Select the correct writing order for the following consonants and check the box.

[10-11] =AM &H S0{ZE X235 X2 M 8.

Choose the missing consonants to be in correct order.

0.0 5| =] | - — | 2| —|Oo|— - | A
@® £, o @ Cc,d 3 =2,d @ O, d
M. | o|— — | x|~ |3 ~|E| | O] —
@® d, =X @ X, E ® X, s @ X, s



[12-15] =MO| A S0{Z SXE H2AH L.

Choose the missing letter to be in correct order.

N I e - | &
@ 2 @ A ® ot @ 7t
13. i U I I
@ of @ * ® 2t @ 7
14 S D N RS T L
ALA A A A &+ | # Al
@ A @ 2, Al ®@ =2 @ T 2
15.
P ; 1 i w7 T = |
= 2t 2f = = = = =] 2|
® 2E @ B % 2, @ F 2



=& [16~30]

[16-19] <E7|>2t Z0] 27| @5 X5 230| &5t ST ZAE LEN Q.
As shown in the example, choose the letter which combines the given consonant and vowel for the

empty box(es).

<H7|>
Example
| L
A A A
@© A @ A e @ =
16.

@ of Q@ 2 OF @ o]



17.

@ 1

B

@ A

@ 7t

18.

1k

@ 4

@ 4

@

19.

@ 7|

@ 7t7|



[20-23] <E7[>9 Zto| Azlg g1, | 2 |of

=0& 2XE 22t 28 22
St & StA .
Look at the picture as shown, draw a line and circle the letter which should go in | , | box.
<H7|>
Example @ LF H E| Lo Led = = = L
- -Z)f—" ' ? H
# |
20. |0k | 0F ) | K| 2R F | 7 | 2|0
? 2|
21 | X | xR H | H | x| x| =] x| x| K
7| ?




WAKS

|

o]

HE

=

H-

{oF

2|

1od

ol

22.

23.




[24-26] AES 22, RZH 7 |0 S0{Z &g 2AE Hot 3210|5 5hM 2.

Look at the picture and circle the letter which should go in | |box.

24 || H | n | m | R| R 0|
E ?
’5 b | HeE | e | b | me | ww | Ed | ome | oww |y
? ||
%. T T T I N S BPVS PO e R I
2 || 7]




[27-30] &S &1, "HIZt

27.
28.
29. —
| !
@
TP
30. LY
r\\\M')/L\\./
N /
)
\/\/(
@ 7

al

+

+ -0

@ =

-

of 9

Look at the picture and choose the consonant which should go in

o
Zwyg

10

I2M8.

3 o

box.
® o @ =
® o @ =

{

@ O
=]
=
+
@ A



[31-33] C}Z O &9 0| Xt5, 25, 2A =A7F XA XTI SXHE DEN L.

Choose the correctly ordered written letter.

31. Ve @ [=|]+ -

32. D [o]+[1]1+[2]+[]+[T]+[2]=[aFz]
= = @ [e]l+ ]+ [E]+ [+ [T]+[2]=[HaTa]
.'. @ [o]+[1]+[E]+[T]+[T]+[2] = [E=]
@ [o] + ]+ [E]+ []+ [T]+ [2] = [EFE]

33.

@ [o]l+[=]1+[E]+[0]+[]+[7]=[200f7]
@ [o]l+ 1+ [2]l+ [+ [T]+[2]=[5Y]

® [o]l+ {1+ [2]1+ [+ [T]+[2]=[209Y]
@ [o]l+ [l +[2]1+ 7]+ [T]+[2]=[50t7]

11



[34-41] Lt E2

S utohgf| ot 7218
Draw the line between th d

()
=
o
=
Q
>
o
3
Q
—+
(@)
=
>
Qo
=3
0
—+
c
=
®

34. g3 ° °
35. =X ° °
36. EVIE ° .
°

37. OF K| M| °

12



[38-41] €20 = 82 1ENL.

Choose the correct picture for the given word.

38. |

39, | AbE

40. Hp2t

13



[41-46] EtE 25 &1 oro A= U H= A8E 12N L.

Choose the correct picture for the word in the box.

41. =5 | =0l

42. XSkt |7 S

14



O] AN K.

L AON )

15



[47-57] D82 £ = EE2 DENQ.

Choose the correct word that matches the picture.

47.

@ HHX| @ X+ (® Atat

48.

QuE @3+  @gX

A

@ olot @ =F ® |

50.

@ 7B @ 2L ® 2Lf

16

@ 70|

@ EfCt



O
ol
KT
(=[]
KK

oo
Eilt!

WAKS

w B
A

51.

@ WLf

52.

@ If2|

@ X= @ W2

@ Lt

53.

o

ol

54.

LHd

-

ol
¥

s

ol

.

uf

17



[55-60] CI22 10 O&0 = LS 12N,

Choose the correct word for the empty box(es) that explain(s) the picture.

£ 5.

© & @ == ® Xl

1

® @= ®

57.

@ &+ @ 27| ® 7

18

@

@ Etz



58. 2 Yoje

D = @ % ® 9 @ 2
59.

@ AtAL 22| @ 30|, 9¥ 3 &0}, Oft @ 7|Xt, HA
60 7tetO|

@ Of=Crt @ 4Lt ® 7lHe @ W ELC}

19



[61-64] <27[>2t Z0| 280 X= LEO ArS0|Lt 22S BIZHof| A0 e &l
=S 2M 8.
As shown in the example, write a consonant or vowel in the left empty boxes which explain the

picture, then write the completed word in right empty boxes.

|l |lCc|l2|olH|lA|O0|X|X|A|E|IT|S

A T
L 7| =
61. = H P >N
—> (\ )/\‘
S —
62. y . o
63. 8
(=] 0
64. T o

20



WAKS 88 =87t g2

[65-70] &S E1, HIZH0| LS LS <H7|>0)AM RO A2,

Choose and write the word from the example for the given picture.

<27|>  mot=  Sf HOE sAHE EEZ #2

65.

68. 69. 70.

s p P ARSI GRSy 4y
RS A e gl e a el o

21



WAKS HE 2T EIIE ¢

[71-73] &t &S 41, 2170 S0{Z ERH2 LS <27|>0A HOoF 44 Q.

Choose and write the word from the example to complete the sentence.

JTEN Q0| of ot
71. = A B L
72. OF s o < I
B® @92
,,,/,T;J_){.;;-\
EIASY
73. 0| 2 o =

22

Ho



WAKS &H& #ZE7IE ¢

o H +|

Ho

[74-75] <E7]>9 20| TFO| = WHS Y1 A INE W |of MM,

As shown in the example, write the support letter and then the complete word in the empty boxes.

<H7|>
Example Hf
+
=]
4
v
"
=
74, 7|
+
v
75. 0| ES
+ +
v v

23



12

13

14

15

16

17

18

19

10

11

24



Op
ol

I

0
KK

oo
Eilt!

WAKS

Of

ol

A

ok

Kl

A

ok

L=

lHE

Lig

14k

e

#

A

A

A

Ot

20.

21.

SICIES
| [®] [=] |
fo H 3| @

o ™ o
- A BF 3
1o = 3 4
fo |G 1
B = T E3 SINCIESIES)
@ |=||=||=
o) S E=] E3
o) 5 -] ¥

N~ 0] (@)} o
Q N Q <

\( 5
~o

34.

35.

37.



Op
ol

K1

0
KK

oo
Eilt!

WAKS

L

o | | °
T | |ls _
U= ° ||| H || Ao | <k S
v PR e W s |l U~ <
oo @ e w || & | = || <] || & ®]o-
= = —_ --— o W_I
- ol R =l T B
i
N~ (e 0] (@)} o — Al o <t LN O N~ (o0} [e)) o — [V on < LN
LN LN LN O e} O O O N} O O O O N~ N~ N~ N~ N~ N~
(e 0] (@)} (@) — (V) o < LN O N~ (e0] (@)} o — (qV o <t LN O
N | on || < < < < < < < < < LN LN LN LN LN LN LN
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